Adding/Subtracting Decimals (F)

5420 +6.4 =

30.1 = 8.1 =

97.37 — 36.6 =

39.9+19 =

23.64 +1.20 =

4897 — 8.6 =

70.3 —6.2 =

30.8 +24.03 =

74.15 — 454 =

04.1 =59 =

Calculate each sum or difference.

55.8 + 46.98 =

62.1 —2.29 =

62.1 —55.47 =

57.81 —H.1 =

1749 — 4.3 =

40.24 — 9.46 =

3.32 —1.53 =

14.7 4+ 3.08 =

73.3 —4.30 =

19.3 +2.38 =
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Adding/Subtracting Decimals (F) Answers

54.20 + 6.4 = 60.6

30.1 — 8.1 =22

97.37 — 36.6 = 60.77

39.9+19=4128

23.64 + 1.20 = 24.84

48.97 — 8.6 = 40.37

70.3 —6.2=064.1

30.8 4+ 24.03 = 54.83

74.15 — 454 = 28.75

54.1 =59 =482

Calculate each sum or difference.

55.8 +46.98 = 102.78

62.1 —2.29 = 59.81

62.1 — 55.47 = 6.63

57.81 — 5.1 =5H2.71

1749 —4.3 =13.19

40.24 — 9.46 = 30.78

3.32 —-1.53=1.79

14.7 4+ 3.08 = 17.78

73.3 —4.30 = 69

19.3 +2.38 = 21.68
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